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�;3 ��-  ��&?�
� $��0� An5f�� ) }���� "��� ���B �� ) A�
� 7! Hf�

 
��� �3�� 
�;3 $��� ����2� �9 y��1� �� ) $��&� ��7�� "�%���� ��� �� �)�� ) �506 
���

�)
, A�5C �� ) +3��� -k����� ��7��- �5� �5�%� A���&.! ) A�?YC�.  

 ����3: j�!� S�+&:B ) �9 ��5&9 ) y�C $��� +2� ��5� <�� ) <&? �� �506 <�� �� ���9

k�54 �� ���� �#$���� -_��52 ) ��=? �� 
��6 ) ��5� �� -�,5, ) �� � ) ��4 -
��7� H2�%!

 e�c�� "$�
8, �� ) "��� ��# H@5� +2� >/&� �� �.��� ��5# �9 ) ���:@�� �� �o���

�5�- $���.  

 ����4:  "$� ��c�� ���5� �� ) ��5� 5��:� <��B $��� ��0�� ) ��������� S�2 ) ��5�� -S�

���# +��$9 �Yd�3 
��7� y�1 �� ��5� �! $��� �3�� H�� 
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 ����5: �,5, '%@$��� �9��� ) �9$�2� ����� �� �)��� X5� �� $��� �9�������� �Yd�3 
�9.  

 ����6: !� ��5��j�������� 
�9 X�=!�� �! S� �� <B�$? $��� ��60/1  ) ��5� 5��:� <��B ���

$%� 
��#5�@ +�51� ) �� t5=� ��.  

 ����7: ��������� "�&�Q�2 O�$?� ��-  b,�f� �� ) ���# ���B ���$� �&��B� ) 
5@ ]����

���? $d ) �5:� ��:@� "�) <&�! +����B �� �5� ���=�2�.  
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 ����9: ��� $��� ��0�� ) ��������� 
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�9 M��2� �� ) vc�� -H2�%� 
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 ����16: ���� ��������� �� ����0� ) 
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�� �$%��� �$�� �� ���? }�=1� ��n 
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�9  $? �� �����

.$%� +��? � �� >�� <C�3  

 ����18: k!� 
��� �� ���9$?�) ������ �5@) '��[�)� ) �����-  $��� ��0�� ) ���������
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� 
��� �� V���:� 
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 ����20: �/0����� �!�:�2�! 
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 ����5Q�� ��������� �� ")��� �� -�02�%� ��5 ! �� )$���.  

 ����23 :$�� ) $��� ��������� ]��� �� ~��Q $��� "$����� ) "��5Q <��� <�� �� ���Q�
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 ����25: ��7%4 �@��Q +&:B �� $��� $���5Q �.�� k��! �� +�3��� A�
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���# ��0.! ��������� �@)�Q �� Z��
�.  ��5� 
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 ����34 :5C �� ) ��5&6 ��5 ! A�
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 ����35 :�)
, A�5C �� ) ����� �� ��7%4 ) �� >���&� $��� ��������� ��0��-  �� ��7%4 ��

�5� ���=�2� ���:/� ����� �� �)��� ) A�� ����.�� ��0�� S� ) y�C +:��� bI2 �� �!n��

$��0� �$�
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$��� >��� �� h�f!�.  

 ����39:  �� �
7� ) ��0�� �� y��� ) H2�%� ���� �� $��� ��0�� "�%���� �����2� <��
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 ����40: ��������� ��:��� 7�� �� 
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 ����43:  ��������� �� ��� �d���� ���3� ������5�� $��� �,5C� �$���#�� �� �� ��n 
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�� �9�������� A�
� 7!%� H:� �� $���%.$   
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��6�+'  

S,� - 
�95!�4 5�"��2 

5!�4���9 �� H@5� �
��5� "$� ]��� ��$�5� $%��� : 
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'/��- ���# -�=,� -��� -")�!5� 

�- 
�95!�4 ��s 5�"��2 

>�� ��2� �� �95!�4 H@5� �
��5� "$� ]��� �&�$�5� $%���: 

��)��} k=%� -")��� 
��B- ~�5�� 5�))�/��� -~�5�� ��5����  

  

W�+`� �0�� ��  ��6�+' G6���;  

A��m� M��)�: 

� H�2� 
���� "5Q��2 

� H�2� ����2� ���5# 

� H�2� ����2� ��f6� 

��� 

  

A��m� M����: 

� A����8! �/���[ �� <:��9 

� "�1�2  

� �� $���)�� V�E 

� k9�� h51 �&6 

  

W�+`� �0�� ��  ��6�+' +�t G6���; 

�H�2�
�9 �&�E ) ��254  

  

2��+0  6Y 2�$� ���  

?��64 ��8� +`6� +! 2��+0  6Y 2�$� ��� /����>4 ��: 

� 
��� ]��� 

� +�51� ]��� 

� 
���# �.�.�! 

� +6�2 "���@ �59 

� X5� +�,�.3 ��3 
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� X5� ) "�
�� M�0, ��3 

� ���I! ��3 

  

u��64 �0�� �� ��+�  

l��56 ��� �� ]���
�9 ��# : 

� ���3�# ��Y;6 

� �#�����# ��5&6 

� �5� �����# 

� S.d �����# 

� l��56 ��254  

� k9�� 
��&! �0f6 ) k��
3� "�7�9 
��g4 

 

u��64 �0�� �� ��+; 

� �� � ��254 

� �Q�2 +254 

� �#�����2 �.d5�  

  

 ����44: ) ��
�� �� ���5&9 $��� w�� ��:@� ) �����# A�
� 7! �� ��� ���%9  ) H2�%� k�54

���# ���=�2� ���# ����� �� �)���.  

 ����45: ��n51 ��� 
���]��� �� A$�k�54 �� $��� ��2 
�9 ���=�2� ��# ) H2�%� 
�9

���#.  

 ����46: �� ���5&9 ��2 ��:@� ) �����2 A�
� 7! �� ��� ��k/�2� �� +:��� ���6 
�9��-

+2� �� +p�=? �5�%���=�2� �9)��� ) �95� ��.  

 ����47: k�54 �� ���5&9 *��� "[)���� �� ��� ���%9 ��=? -k/�2� <�0B �� ��p�=? 
�9

���# ���=�2� H2�%� �&/E ) A�5C.  

 ����48 :�����Q��2 ~)�Q ) �)�) 
�9�� -���2 �� ���� A��$C �� 
�����4 �5�%� $��� �9

��9� ��$���� "$� ��� +����B <Q�� �� �� ���9- 5� 
 7�$�.  
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����49 :���� ���Q��2 ) �����2 A�
� 7!V�:�2 �� $��� �9$%9���$�9 
�9�  ) ��2�

$%��� 
 7� Z�!��5!�.  

 ����50: ���? �)�# 
���k!� <�� ��:���/,� 
�9 <�,� �� -�!5����� �� ) j�� �5�%� 
�52

���/,� "���@ �5@)>�� �� ���: $��� ���2��� ���=1� ���� $��� ���5, ��5# ���3�# j�� �� �!

>�� 
��� .���# 
��#5�@���? ��5#.$�%� ���=�2� >���$�:�� 
� �$%%� �5��Q �� �9 

 ����51: ��]��� �� ��� �5�%�$���� ��7� $? �� �!n�� 
�$C ) �2 �� ���9- ��5# �� $���-

���# ���=�2� ��p�=? H2�%� 
�9. 

 ����52: ����2���7�� ���� 
�$C ) �2 �� ���9 ��$%%�- $��� ���5&9  �!5C ���6 ]25!

.$���# �� � H2�%�   

 ����53 :����2� �&�:� '�)�2 ) 
��$ �� -V��%!�� �9 ) �2 $�$�! �� 
��#5�@ �5�%�

+2� ���
,� ]��� �� �$C.  

 ����54: $%�:9 <f�� }YQ V�:�2 �� �� ����5, ) A�
� 7!-  ��!�4 �� 
��#5�@ 
���

b��C 5�� �� $��� "$� $���# �� �.  

 ����55: ��������� ���� ��� 5����5���� ��5� �� �� ���9$%%�-  A����� ) >���5� ���� +��6�

�� 
�)�d "���� �&!� 
[��� "����2 
52 �� ��3�� ������$���.  

 ����56 :"��� A�.�.�! l�.� �� �65� �� �� 
���3� ������ �)�$%���-  �� ���5&9 $���

3 +p�=? <��2) H2�%�� 
��.$���# 
 7� V��3 ) �.�� X5� ��   

 ����57: ��������� �� 5����5���� ��5� �� � @�5� k9�� + @Z�%/! �� $��� �9 ) �&�6 
�9

���# ���=�2� H2�%� ��&6.  

 ����58:  �� ) ��5� >&�� $��� 5����5���� ��5� A�.��d *3� ) <�� ) <&? -
�����0�� �9 �)��

#5�@ ������ ��5#.���# 
��  

 ����59: <�� ���� ���=�2� 5����5���� ��5� �� �� ���9���#-  �$%9� ��$�9 V(Y6 Hf�

+2� ���
,�.   

 ����60:  �
�, X5� �� H2�%�� +254 ) V�E ��p�=? <��2) �� $��� -�
�, �� ���=�2� ���%9 ��

�5� ���=�2� "� 
[��� ).  

 ����61 :��������� �� �2��2�� ��C5fc� �9 �.���# �)$�� $��� �
�, �� ��� "���  
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 ����62 :��� 
��� ��:��� �
�, �� ��� ���%9 ��� k!� -��7=�� -�/���/,� A��IQ 
�52

�5�3 -�!�)�� A�.��� -����3 
�9��# �� ��� �� ���� A��IQ ���5����5���� ��5� ) �&2 
�9

���# t�c!� 
����$!. 

 ����63: ��2� S��c� }�
@� �� $������� �� "�%�&1� h5f? ���, �� 5�))�/�� ��&@ �� �9

+2� ���
,� ���� �$6 ���.  

  ����64: ��n ��&�? $��� ��������� ]��� �� ��� ���%9 UV $��� �5��Q.  

 ����65 : >��� �� h�f!� V�:�2 �� H2�%� 5�� �� $��� +��m ) ���2 �B�� A�
� 7! ����

$���# 
 7�.  

 ����66 :� ) A�)�� ����<��� ���� j�� h����� ��
� k�54 ) V,�2 $��� �15��� An�f!� ) �9

$��� ����� ���6.  

 ����67: ��?V�2 �� �5� �.2 "�/�n������ ���=�2� j�� h����� 
��� ]��� 
�9.   

 ����68 : ) ��#� ���3� ]25! ) �$���# vc�� �$%9� ��$�9 V(Y6 �� �5�.� A�
� 7!

�5� v�� *3� vfc��.  

���� 69: ]��� ���51�� 
�9-  <��2) ���� �� ���=�2� �� $d �/���/,� <��2) 
@ ��

�� X5%&� �/���/,�$���.  

 ����70:  V�:�2 <��) �$%%� Z%Q �� V�:�2 �� 
 7� <��2) �� ���=�2� �� ) �,5:�52

V�:�2 �� �&�? ('�Y3� �� +�� ���5� �� j�� *IB 
�9)Water watcher (�5� ���=�2�.  

��� �71 :<�� ������ �5@) ��7=�� ) h�.��� <��B 
�9��# �5@) h�&�?� �� ���9-  ���=�2� ��

+2� ���
,� �B�@ $d �B�� A�)��.  

 ����72:  �� ���6 �5�=� �� 
 7� ) ��3�� �����2� H2�%� <�� �� $��� j�� 
�95���! ����

%� aYf�t ���3� ]25! ]�3 
���Id� *B�5� �� ) $��� "� "5����4���# h��.  

 ����73: k!� ��
�52
� �� ]�3 j�� �� ���� 
�9>��� $�:��(CO2)  �5��Q �� ) 

�$%%����# ���=�2� Z�Q ����&�� 
�9.  

 ����74 : �15�� �� ~��Q ) H2�%� <�� �� $��� �,�Q �� �4 �� V6� ��# 
�9�$%��2

 +:� �� ��7�� -�&:! �� ���=�2� �� 
�5&6 +,�? �� ) ����������� ) $���# �� � >&�� �51

�,5, ]25!$�5� +��$9 ��������� <Q�� �� H2�%� ���. 
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 ����75: @ ��� �� �5!Y#� $��� ��# 
�9�$%��2 ���7��@ ���%9 �� �54�� ]25! ) �$� �$

���# +�3���.$   

 ����76 :��2� _�E �� $��� ��# 
�9�$%��2 <&? 
������# ���=�2� H2�%� 
�9.  

 ����77:  R�� "� ��Q�� ��# X5� �� H2�%�� ) ���$���2� M�2��� ��:��� ��# �$%��2 ��$�

���# Hf� "� 
)� ��# X5� ���2�%� H:E�� ) ��5�.   

 ����78: +&:B ���� ) �$�� _�E ) ��7�� -�/�3 -�&:! <�0B �� )��� �$%9� h����� 
�9

>���� �� ���9 +&:B >�%o&9 ) "� h��������2 ��7�� "�/�� �� �9 $��� ����� ��3 
���- 

.$��� �3�� +����2� �� ��=? �� ) k�54 
���� $���  

 ����79: 
���  
��#5�@  h�.��� �IQ ��  �B�@ �m� �� 
�9  ����  ���:���/,� ��  >��2-  +�51�  

�0:�   �� ��&� $��0� �� �5950 ��@��) $C�  Z����)�$�9 +��$ �� (  
��� )  >��   �� � �5�%�

+2�  �� <��2)  h��%�  ���=�2� ����5Q  .�5�  

 ����80: 
�9���  �/���/,�  �� ��  >/&�  +2�  
)�  :@���  

�3  *&@  $�5�-  $�����  �)�

�� H2�%�  >���  +��$9  .���  

 ����81: ���@ �� ��  h�&�?�  H�2� 
�9  �/���/�  �� �)�- <��� �9  ��� $���.$��� ���  

 ����82: � $��� �9�5�3~��Q �  ]��� ��  ���� ���B �IQ  �� �@ �9 .�5�  >��  <&6  "�/��  

����$�  ��=�� �� �� �9�5�3 $��� $��� 
�  Hf�  �� �5&�  "� �� ��0s  �54 �2 ) $%/� t5=�  "� 

<0B ��  *IB ��  �/���/,� ��$�  "�5��  .��� ��� 

 ����83: 
�1��  �� k�� [��,) �� +��m �/���/,� 
�950 +,) j�!� �� $��� �� �02�%� 
�9 

"� S� �9 $�2� <���� ��- +�)��� �� ��n  ) �������# ���B -$�����5Q�� �02�%� ��5 ! ��� .$ 

  

  

  

  

  

  

  





  

  

  

  

  

:5���L ?=%  

������0 W�+:S  

  

��� 
�9 M�&! �� ��5� ����&�� : �� $%!��06 

1. '=%!  

2. �g@  

3. �g@ ����5#  

4. ���
!  

 

-@�� ��  Inhalation   

• ���2!��> ,)� )�> :��� ��5� �)�) �� "$� <Q�� �� �5:�� �5�.  

• #�5,���9
 0B �� �59 �� �5@5��< -�9��# � A��t ) A���c��
 ��$%��5! ��:����&  ��

k� <Q���9 ���) $���#.  

• ,)� �59 �� ���=�2��> 9����/ �)�) X5� >�� �� 
��#5�@ 
��� ��$���.  

• Z2�� �� ���=�2� �9�� 5 !���9
 fc!f� ���5� ��
 "�/�� �� ���=�2�  �59 ��

���: ��-+: ��n +2�. 

 

 qvY�� Absorption 

•  �g@����5!$ ���Q *��2 �� ���1 �#$����9 ) ���Q
�9 +254 _� 9�$. 
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•  ��:� �� �#i�)
�9 -�$%�n� �g@ >/&� +2� �� ���1 +254 V,�2 
�� j�=!� 

$�=�� $%���  �g@h5%3. 

• �� >�� �I���- ��n
�9 �1�c� ) +3�� V�E- +�2�:? 
����� $����. 

• ���=�2� �� r3���
�9 +.��&��$%%� $%��� k/�2� ) >�%o&9 +��6� +��$ � 

�fc�- >�,)�  ��$B�h��%��$%%� �g@ ��5� �$%�n� "$� �� ��$���. 

 

  

0��6� qvY� �� Ingestion 

��:� "��5Q <����V � ��5��&���� ��$��� .���� H�s�� � _��%9���5� �� $ ��5,�  ��

� ���� ���B "�9��$�5�. &9 ���> ) "��)� ���&9 �� +�6 y�f� �gs ��5� ��5# �9�� ) 

�5���$� ���� ������� � X5%&��$���.  

�6��+ fc� +��$ ��- H:E����� ) ��$ ��
 � ��5� H2�%��&���� �� "�/��9
 vc�� 

���
 #5�@��
 �� ��> :� M�&! ������ � V �����$. 

 

�,��" �� Injection 

VQ� �&9 <����9
 � �$�)� )�3�$��� ���Q -R��2 "�52 $%��� �����9 ) �,5,�9
 (5��>. 

&� � �� ����� �� +�3���� +2� </�� .�5�2� �� <&.,��9
 4 �� ) vc���k .!��>  �$�

%� ���=�2��$ ���%9 �� ) ���=�2� � ���> �2)�<- �?��|��9
 ��n �� # ��� �����$  $%���

k�54 �� ���=�2� ) "�52 r3��� .  

  

�� H1L+!  0 ��6�������  

��&!� � y)�p�&���� H:E�� �$���2 +��� ]25!�� ���$�5�. ��> H:E�� A�6Y1� �9

��� �Q� �� ����� � �&�����g#:  

• ���� ���
 ��&����  

• �$���2 M��� ) ���  

• 3 A��IQ�
�/� ��Y2 )� ����  

• 4 A���$B���������  

• �<&.,��5�2�9
 Z&��9
 ,)���  
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• ����] �C�b ��$ ��
 ���� �� ��� ) 

  

  
A: Product Name and Description 

B: Product Number 

C: Further Descriptive Information 

D: Recommendations on Handling and Storage E: Hazard Statement. 

F: Lot Analysis, Data on activity, purity, degree of hydration, etc., for this lot. 

G: Package Size H: Lot Number 

I: Hazard Pictogram 

J: Further Hazard Information K: CAS Number L: Chemical Formula and Formula 

Weight M: Country of Origin 

N: Material Safety Data Sheet Available O: EC Number: 

  

�4kC�W �6Y6� �� ��+! W�4kC� ����� 

• 59�+ � �����&����- ��!�H �� "� �$���2 }�
@� �� |5��� A�6Y1�  

• �%���� ,�&�?� A��IQ ���- ,)� A���$B��� :��[�)��- ,)� A���$B��� � @�5� ��  

�� �?��  

• ,)� A���$B��� � A�5C ���>�c B�=!�� � �����&����  

• ���5 C��b ��$ �� ) <�� ) <&?
  

• �)��9
 ��2 "��� �� ��+ � ���� ����� �� ���3� +�3��� ) "��&����  

• 3 e�5Q�
�/�- ��&����- �4���$
 k%��) )g4��
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• &2 A�6Y1��+ � �����&����- [5,5�� A�6Y1��/�  

• �C h5C��b �9$��&:4 "��� �)$.�
 "� 

 

��+! ��6� ����� W�4kC� (HSE)  

 
  

�� ���@*;� ��6� 	.k4  H1L+!��  

�� &� �&�� Z��� � +Q�%� �� $%�
 � ���� ���&���� �IQ X5� ) 
�� ���
  �� �&�

�?� �$6 A�5C�|� ����7 ��$%�- ��� ������$.  

1-  (Explosive) E�@ ���� s�� ��$ �� ��5� ��0�� ��
 ��7=�� <��B) �5�(.  

2- (Oxidizing – Fire Promoting) O  ):��� �$%%� $– <��B h�.��� (M�&! �� ��5� <��B 

h�.��� �� <B�$? .$2��  

3-  Very Toxic)T :���� &2��/� �9 �� "$� �� M�&! (� �6�) �5� �)$���+  ����$?

� ���5��%&.(�  

4-   (Toxic)T&2�.  

5-  (Harmful) Hn )�0� (�;��$ 4 M�&! +2� ����$ $%�.  

6-(Extremely Flammble) F  �� h�.��� <��B A$�- ��� ��
 ��� �=C ��$ ��
 �5�.  
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7-(Highly Flammable) +F  ��$ ��
 ��� ��
 ��� 21 ���2 �@������#.  

8-(Corrosive) C )�� �� M�&! �� (�$��5Q�� #5�@ "$� a5I2��
 �5�.  

9-Xi) Irritant( �)� �� �,�    
  

 ����83 :H:E�� $��� ����&�� ��5� ����.$%��� ����� �� ��n �!�6Y1� 
�9  

 ����84:  �#���A�6Y1 ��5� �%&��(MSDS)   M��2� �� $��� ����&�� ��5� ���� 
���

$���.  

 ����85 :<&? ) ���7��@)<&.,��5�2� �� ���I� $��� ����&�� ��5� <�����# ��7�� �9.  

 ����86: "�/� �� $��� ����&�� ��5� y)�p �� ���3� ��5Q�� h�&�?� �� ���# 
��$ �� ���9

$��� ����$� �5@) � ��.  

 ����87 :$���# ���B $���5Q V���:� �5� ) A���? *��%� �� �)� $��� ����&�� ��5�.  

 ����88: �:=B ��
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�9 �!

 ��400 �� *B�) ���5����5�. }��)�� �.�� �� k=%� ��������� 
�9
[5,5��  
�9�5�%� ��

�� ���=�2� S��c��5�<�0B �� . � h[ �� �5@5� 
�9��5� h��%� ) �2���,��53)��/ �� ) �� -

� "�5%6�)�/���:�� �%&�� 
�9�59 �� k�.  

k=%� }��)�� �.�� l�.� �� >�3�# ���B (UV)  A$� �� ) H2�%� r3��� �� ���=�2� ")$�

�� ��n51 $%� ��7�� �� ��� �,�&�?� l��56 $��5!:  

1- A��$C �&�E: �� �,� <��� (+�!���)����B�� - $���)��)+����!��(- ��52 ��/0� ) .Z%Q��  

2- ��254 A��$Ck=%� }��)�� �.�� : (UVA) ��)$�� ~5� h51 >��!n�� �� UV ���� �� -

 +254 M��)� 
��4 ) �#$��)�E H02 ) ����� +254 �� �� t5=� >���������5�.  

k=%� }��)�� �.��  (UVB)h5/,5� Z���! �� +2� >/&�
�9 DNA  "�1�2 ��7�� H02

�5� +254. 

��B- Z���! -+254 ��52 ) ���Q +254 �� ���� l��56 �,�&�?� M�&! 

�� �.�� UV +2�.  

�)��IQ �� 
�����4 
�9 :  

��������� �� ��� ���%9�%� +:�� 
�92� :  

1 -r3��� Z%�6 �� ���=�2� UV h[ �2��� ���%9 '���! ����2� ]25! ��53)��/,� 
�9

�5!�%��5,.   

2 - �� ��� ���%9 �� A�5C r3��� �%&�� 
�9��2 �� ���=�2�  UV.   

3 - $%�� >��2� >9���4 ) r3��� k/�2� �� ���=�2�.  

4 - k�4 �� ���=�2��)
, A�5C �� r3��� $%�.   

5 - �.�� �� ����� -Z�[5,5�� 
�9�59 ��5�@ �o��� "�5� ��:� UV +2� >�)� "�.  

6  - "�/� ��5� �� �IQ H:E�� Hf�"�/� "� �� �)�) 
��� �� ���9-  A�
� 7! �� ���=�2�

���� �� �%&��� UV +2� ��n.  

7 - "�/� �� ��5 ! "��� >�)��.�� �!$� �� ���9 UV +2� �$� �$���! +&:B "� ��.  

8 - ]25! +254 �� V�E �/�!�5C �� UV  Z�
4 ]25! �5�
� ��3 -$��� �$�� H�2�

�5� �%��.�.  

9- .$���� �5;? ��������� �� �� 
���� ���3� ]25! 
��3 �%&�� A�
� 7! �� ���=�2�  



  

  

  

  

  

:	�0 ?=% 

W�,��N� �����  

  

 ����143: ����2� ) A�
� 7! �� ���=�2� �� <0B�9�������� 
�9-  e5fQ �� ���3� ��:���

�� ���5�� -�%� � ) >&�� 
������� ��n 
�9 .$%��&� H:� aYf�t *@��� ���1 ��   

 ����144: ��)� '�)�2 ) 
��$ �����# ��7�� $��� A�
� 7! ���� 
��� 
�.   

 ����145 :�#�5,� $��� -��&.! ) '�)�2 �� <0B��� �� ��B� ������
 ����2�� �9�$�� <&6.  

 ����146: ����
 ����2���)� A�5C �� $��� �9
� .$���# ��0�,�� aYf�t ���3� ]25!   

 ����147 :����
  
�9�5�3 -A��25��! �� 
 7� $��� �9�������� 
�����# A�
� 7!

 �� -"�0���4�)
, ���5�-  �$�5� <=B 
�9��.$%��� H2�%� �!���? ���6 >�%o&9 )   

 ����148 :����
 ����2� A�
� 7! �� �)� ) A���? �� �)��� "�/� �� $��� �����# 
�9

$���# ���B A���? �� M�:?.  

 ����149: �� �����# <��2) �� H2�%� ��C�3 �� +:�����:?$���# ���B �!���? 
�9.  

 ����150: ��? )Y�5!� ����2� �����2� <�� �� �/B�!� ]25! �)$�&,� A�
� 7! ���2

.���# �
7� ���������   

 ����151:  ��5� "��� ���B �� ) �5� h��%� ����)� $��� )Y�5!� �%2��� ) �%2���3 -<=B

k!� ) ����&����# 
����5Q "� �� ��.�   

 ����152: �����V�:�2 �A���? 
�9)� �� �� ������ ��# $�,5! 
��� $� + @ $��� -$%��&�

��c!���$� ��7�� 
�9��# �- �5 ! V�:�2 �� 
 7��� ���B �59 <Q�� �� ) ��5� H2�%� �

.$�����  
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 ����153: =�����2 X�5���|5�c� -�9[5>��� ���=�2� ���%9 �� �9�
���35�, ) �9  Z�[5,5�� ��5�

hY? )� 
�9 ���B H2�%� �59 ��� $��� �,���#.$  

 ����154 :An�f!� �� ���=�2� �
���35�, "��� ��� �� ���%9 O-Ring  
��� �59 
�9����3 )

�,5,�,5, .+2� ���
,� }YQ 
�9���� 
�9 
��� .$%��0� �5�.� �! $���# h��%� $��� }YQ 
�

���� ���5, ��5.!�5� ���=�2� }YQ e5fc� A�.IB �� $��� ����2� 
�.  

 ����155: 
,��,5, �� ����=�����2 �� ����� 
�9����# ���=�2� �9[5.  

 ����156:�,5, >�:/� A�5C ��=�����2 <Q�� �� �9�+&:B $��� [5 �� ����2� ��Q�� 
�9

���# ��5=6$d ) 
��:��4 H2�%� ��
�� ) �)�.  

 ����157 :$��� ���� ) y�/� ��5# �9 $B�3 $��� ��53)��/,� Z��! ��$�.  

 ����158 :� ��$%9���$�9 V(Y6 $��� ��53)��/,� ����2� 
)�
 ���# Hf� n�� [��,) �i�).  

 ����159: ���� ���5, �2���� ��5� ��! ) ���:/� �5@) ��� �� -���=�2� �� <0B $��� 
�

$���# ���B.  

 ����160: ���� ���5,�=�� �� $��� ���=�2� <��B��s �� ��:/� 
�� �)��� ) �
7� 
�9

*&@ 5� 
�)�$�.  

  

  

  

  

  

  

  



  

  

:	*@� ?=%  

������ �� ��� �������  

  

���� 161 : �1�Q ��?�� ) �%&�� �� e�c�� �� $��� 
�51 $��� ��&6 
�9��� �� ��� <��

 
��� +2� ���� �� ��#��� �� .�5� <C�? � �� ��� �� "��$��� ����$? ) ���� ��� "� ��

IB �� �.IB +Q�2 ) ���8! + @ ��
�� X�5�� 
��#��/� +��6� 
���:� �%&�� A�/� $��� -A�.

�� � A��06 �� -���#-  .��� $��� X5B) �� <0B �.B�) ~Y6  

���� 162: �� ���=�2� "� �� ��#��� �� �� �!�)�� ) ��
���5�-  �� ) H2�%� 
�@ �� $���

.$9� v�c�! ) �$�� �� "� $��5�� ���� Z� �� �! $��� e�c�� $�� l�.�  

 ����163 :�7�� 
��� ���=�2� H2�%� ��
�� �� ��� �5� .�  

���� 164 : ��� �� �15��� <&.,��5�2� �01 ��
��5� ����.�  

���� 165 :� ���5�E <&.,� �5�2� �o����� �.,�I� ��
�� "��� ���5�.�  

 ����166 : ��� *B5� �� ����2 �)�� �� 
��#5�@ H@5� ��� �� X)�� �� <0B �9��
�� h��%�

�� .�5�  

 ����167:  ��5.! �� ) ��&.! �$�� ��$C ��
���5�.  

 ����168 :<��2) �� ���=�2� �� '4- "� ���B �5Q 
�@ �� ) ���� 
�&! �� �9.$�9�   

���� 169 : ���2) ) ����2� �9 �� ��� �� <0B
�- �Y��� �� "� �� ��� ��1���  $����� �� �! �51

�C$���&� ���=�2� "� �� b� .  

���� 170 :]�3 ��
�� +2� �$� �?��1 �� 
��� ��7�� 
���- �� ���$�5� ��3�#.  

���� 171 :� -�5� ���=�2� H2�%� ���$�� ) H2�%� ��
�� �� ���&9� H2�%��� ��
�� "������

.$� $9�5Q A�.IB �� "$��2� ��$C ) ��� "$� ���Q {6��  
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���� 172 :� �� <0B� �2���� ��$C ��� �� -��
�� 
��# ����5�.$  

���� 173: �� ���=�2� �B�� ��
�� �� �� ��B)5� �� � 
�� 
)� ��� �.IB -�� �� V/�� �� �$

 ���#��:��5�.�5� ��3�# �=� Z� ]25! $��� ��&�? -�50� �:�� "� >�:� "�/�� �#� .  

���� 174 : �� ��%�� <��2) ���2 ) $%0�2� -���? -
������ -��
�� �� ��� ���%9��3  �)�5� -�

�2) >�� ���� +2� �� ��$C H@5� ) $%%� ��# +2� >/&� <�$�5�.  

���� 175 :+2� ��� �)� ��
�� �$���# 
�9 +&:B ) 
�! �0, �� �� �5Q �:0,� ) �2 
5� -�9

����.$  

���� 176 :�� ���=�2� ���$��� ��
�� �� �#��5�- $.� ��� ��&!� ��- ������� "� $��� �5�.  

���� 177 :��
�� 
��$ �� <&.,��5�2� �5� �.,�I�.  

���� 178 : ���=�2� �5E �.IB Z� �� -
�! ��
�� "�5� 
�! k����� 
���5� �� 
#�9 ) �

� ���=�2� ��� >�� 
��� +2� "������5�.�  

���� 179: )� ��� ���%9
 �2� ��
�� -"������  ) $%��&� �� ZE5��� ���:  ���B���� �5�.  

���� 180: �%2 ��
���>  5,� �� ���� %1 �0.@�� n�� ) ���� ���B ����$��� .�5�  

���� 181 :+&:B -��
�� <&? *B5� ���9
 �� ��� "$� �� �)� "� �$����5� ���.  

���� 182: ZE5� ��
�� )�
 � ��c!���5
 )��"�
 � ) �$��  ��
�� �0.@ -�:=B ����  5��

��$ ��
 5��.  

���� 183 :! ��
�� 
#�9�
 @ �� �$��� )�H  <&?.�5��  

���� 184: <��� �� ��� ���%9 ����4 R�� -�B�� ��� -�9- �2�� $�,5! �� 
��
�� ���2 ) ��4

�� ��.� A��t ) ����! -����� �%&�� Z%�6 ��C5fQ A�5C ��p�=? <��2) �� ��&�? -$%��&�

 ���=�2�5��.  

 ����185 :�� ��7� $? �� ����� 
�$C $�,5! �� 
��
�� �� ��� ���%9 ��$%��&�- �5# �� �

 ���=�2� H2�%� �%&���5�.  

���� 186:  �%&�� k=� -�5Q 
�4 �� +p�=? 
����5� �$��54.  

���� 187:  <��2) >�� ���� -$�%� ~��Q �5Q +2� �� �� ��%�� <��2) ���2 ) ���? -
������

$�5� �� �&� +2� �� ��$C {6�� ) ���� ��# ��
�� �$���# 
�9 +&:B ��.  
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���� 188 :�� ��� ���%9 �� $%��� �� �$���# A�.IB 
���� �� 
��
��-  h�&�2� "$��54 ��

M�0, -h�� -"��#>��2� 
�9 ��� M�0, ) ���#��9+&:B �� ��$� ���4 "� �� ���9- 

 
����5Q5�.�  

���� 189 :$%��� ���6 k�54 
���� �� �B�� ��
�� ��-  ���=�2�5�.�  

 ����190 :� ��
�� 
���$��/� h�f!� V�2 ��&�? �B�  ��C5fQ) ���6 k�54 $B�3 �� 
��
��

($%�:9.  

 ����191 :��? Y4 �� "�/�n�x ���=�2� �Q�� �2 
�95�.�  

���� 192 :� �B�� ��
���� <&? �� $%�� � �� V�2 ���2)5�.�  

 ����193 :V�2��� 
�9 ��5.! �B�� ��
�� ����5�.$  

���� 194 :Y4 "��� ~��Q 
���x  V/�� �� "� -
��4 ��3�#�� Y4 V�2 ���o�9 -$��/� )x 

�5�� �$���.  

���� 195 :Y4 h�f!� �� <0Bx  �2��� -
��4 ���5� .$��� �5��Q ���2) ��(52 ��  

 ����196: >��� 
)� >�)� +,�? �� �B�� ��
�� �5�� ����g#.  

����197: -�B�� ��
�� A�.IB ��5.! �� "��� 
�&! ���%9 ��:���  �5��Q �� "� ���Y4 )x 

� "��5� ~��Q 
��4 �.  

 ����198:  �$9��� �)� �� ) $� w�� ��� ���%9 �� �B�� ��
�� ��$� �#�� ��(52 ���53 -$

 �5��Q��#.�  

 ����199: V�2 Z� �� �#�  ���=�2� ���2���5� +B� -�5�  ����� >��� h�f!� V�:�2 ��

) $���  <C�? "�%�&1�5� �� � V�2 >�����2) 
���-  "� ���$�� ) H2�%� �� �2��2� 
���

�3�� ��� <�� +2�.  

 ����200:  ->��� +�51� �� <C�? �5� �� 
��#5�@ 
��� -"�&�Q�2 �� ~��Q �� ��� ���%9

��?
�1�� ��
�� �� "�/�n� ���=�2� ���5�.�  

 ����201: �� ~��Q �� ��� ���%9 V�2 �� -X�=!�� �� �� "�&�Q�2 V�:�2 
���� �� 
���2 
�9

�� >��� h�f!� ���=�2� -$%���.�5�  

���� 202 :��E� �� ��� ���%9 ��-  ��! ) �#$�(�2 -�#$��4 �$6 �� "�%�&1� 
��� ��E� ���9�

 �2����.�5�  
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���� 203:  ��c��� $%�� �3�� ���$�� �� ��E��5� � �� )� �,5, $%��� 
���� <��2) "��� ���

 ��%�@� )��� "��� ���� 
���5�� - ��2� >/&� 
���� ���3 +��)$f� {6�� ) ��:/� ��E� +

.�5� �&�  

 ����204: �� ���3 <���� +&2 �� -$��/� �5Q +&2 �� �� ��E� ) $��:��� h��.�� �51

.$�%�0� ��$C �&� ) ���5Q 
�, ��E� +2� >/&� ���� $�9$�  

���� 205: ���=�2� k/E "�5%6 �� ��E� �� �5�� +2� 
)� ) ��3� �� ��E� +2� >/&� -

.��5c� �&�  

���� 206 :�� � ) ��4 
)���� R�� 
�9- t5=� >s)� �$%%��5� ��c��  ��E� �� '�2 )

k/E ��� �)��� ��E� Z� �� ) '/� -�5Q5�.�  

 ����207 :��#��� ��- ��4���5# ��c��� ���95� �! $��� $%�� �3�� ���$�� �� � �� ��2� �� �

��4 ��!5� ��2� .����� �@ �&� +2� �� �Y������5#  +2� S� ]2) �� 
���� ���3 ���)

��.$%�  

 ����208:  +��6� ��H�!�! ) V��- �� +���0f6 ) +B) yY!� �� ��#��� �� ��5� 
��#5�@

�5�.  

 ����209 : V���:� k��! �� .�5�� ��:Q V�E �! $��� �3�� ���$�� �� $��� ��� <�� ���%�)�

.�5� 
��#5�@ 
�� V�E ��  

 ����210 :��#��� ��5 !-  �� �$C ) �2 "�
�� �! ���# �?��1 
�51 $��� ) $��� H2�%�

.$2�� <B�$?  

 ����211: �� e�c�� �! $��� ����� �� ��n +.2) ��#��� ��)$��.$%%� ��� �7�� �� ��?��  

 ����212 : ��� �� ) �$� 
����� 
��� ) 
�/3 �9���� H@5� ��� ]��� +3��� ) 

�&!

2� �m5� ��� ��0��4 �� ���)�.+  

���� 213 :.�
��� ��#��� S� �� �! $��0� ��� ��:� �� A�.��� ) ��=� ��5�  

 ����214 :"� ��� �� ]0!�� ) $���� �5@) ��#��� �� �� �!�)�� "��� 
��/�2� �� � �)�+:� -

.�5� 
����5Q  

 ����215: �vB�5 ����2� �,�&�?� "��� 
��/�2� �� ) ���� XY1� ��#��� +2�4�2 �� �� �9

2�.�5� 
����5Q �5�.� ����  

���� 216 :.�5� ���=�2� H2�%� �54)� �� ��� M�0, �� ��� ]��� ��  
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 ����217 :.V�%� r=? �� �5Q k���� ) ����� "�)��3 +B� �9��� ��7�� ��  �� ��� ]��� ��

.�5� 
�9�4 
��� ) �Q5�  

���� 217: ��4 $%��� 
�! �5� <��2).�5�� ���� ���B H�@ �� ���5#  

���� 218:  y�1 �� �� ����3 
�59 R%�� �� ) V�%/� 
�&! ����3 
�59 �� �� �5Q M�0, 
#�9

V����� �5Q "��2)� ) "���/&9- �� R%�� ")�� 
�� A��t "5E.$�
� ��$C V�E �� $��5!  

 ����219 :�B�@ ��R%2 ����2� 
�9M�0, �! V�5� �)� 
��/�5@ ����2� ) �B�� ��� -��� -

.$%�0� H�2� "��  

���� 220: V�2V�2 $%���) $%�:�� �,5, <Q�� �� �B�� 
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